

Sčítání a odčítání zlomků se stejným jmenovatelem

$$\frac{5}{6} + \frac{2}{6} = \frac{\quad}{6}$$

$$\frac{2}{11} + \frac{8}{11} = \frac{\quad}{11}$$

$$\frac{9}{25} + \frac{13}{25} = \frac{\quad}{25}$$

$$\frac{10}{118} + \frac{59}{118} = \frac{\quad}{118}$$

$$\frac{4}{9} + \frac{4}{9} = \frac{\quad}{9}$$

$$\frac{11}{17} + \frac{6}{17} = \frac{\quad}{17}$$

$$\frac{5}{24} + \frac{2}{24} + \frac{11}{24} = \frac{\quad}{24}$$

$$\frac{13}{33} + \frac{11}{33} + \frac{4}{33} = \frac{\quad}{33}$$

$$\frac{5}{12} + \frac{1}{12} + \frac{4}{12} = \frac{\quad}{12}$$

$$\frac{7}{8} - \frac{4}{8} = \frac{\quad}{8}$$

$$\frac{19}{21} - \frac{12}{21} = \frac{\quad}{21}$$

$$\frac{86}{100} - \frac{22}{100} = \frac{\quad}{100}$$

$$\frac{35}{55} - \frac{4}{55} = \frac{\quad}{55}$$

$$\frac{7}{4} - \frac{5}{4} = \frac{\quad}{4}$$

$$\frac{17}{6} - \frac{11}{6} = \frac{\quad}{6}$$

$$\frac{9}{9} - \frac{1}{9} - \frac{4}{9} = \frac{\quad}{9}$$

$$\frac{16}{13} - \frac{10}{13} - \frac{2}{13} = \frac{\quad}{13}$$

$$\frac{90}{100} - \frac{15}{100} - \frac{46}{100} = \frac{\quad}{100}$$

$$\frac{15}{48} - \frac{3}{48} - \frac{6}{48} = \frac{\quad}{48}$$

$$\frac{37}{36} - \frac{11}{36} - \frac{3}{36} = \frac{\quad}{36}$$

$$\frac{18}{7} - \frac{5}{7} - \frac{1}{7} = \frac{\quad}{7}$$

$$\frac{15}{13} + \frac{3}{13} - \frac{16}{13} = \frac{\quad}{13}$$

$$\frac{9}{6} - \frac{8}{6} + \frac{3}{6} = \frac{\quad}{6}$$

$$\frac{24}{29} + \frac{4}{29} - \frac{11}{29} = \frac{\quad}{29}$$

$$\frac{5}{6} + \frac{\quad}{6} = \frac{13}{6}$$

$$\frac{3}{4} + \frac{\quad}{4} = \frac{10}{4}$$

$$\frac{\quad}{5} + \frac{13}{5} = \frac{15}{5}$$

$$\frac{36}{29} - \frac{\quad}{29} = \frac{30}{29}$$

$$\frac{53}{100} - \frac{\quad}{100} = \frac{10}{100}$$

$$\frac{\quad}{18} - \frac{11}{18} = \frac{4}{18}$$

Sčítání a odčítání smíšených čísel

$$2\frac{3}{4} - 1\frac{2}{4} = \underline{\hspace{2cm}}$$

$$3\frac{1}{20} + 1\frac{2}{20} = \underline{\hspace{2cm}}$$

$$3\frac{2}{7} + \frac{3}{7} = \underline{\hspace{2cm}}$$

$$4\frac{8}{10} - 3\frac{1}{10} = \underline{\hspace{2cm}}$$

$$8\frac{6}{9} - \frac{5}{9} = \underline{\hspace{2cm}}$$

$$3\frac{2}{6} - 1\frac{1}{6} = \underline{\hspace{2cm}}$$

$$3\frac{4}{5} - \frac{2}{5} = \underline{\hspace{2cm}}$$

$$8\frac{7}{10} - 5 = \underline{\hspace{2cm}}$$

$$4\frac{2}{9} + \frac{3}{9} = \underline{\hspace{2cm}}$$